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6.2 Interpreting Graphs Use ?mvaQM *

Mathlinks 9, pages 220-230

Key Ideas Review
For #1, unscramble the letters to form a word that correctly completes the sentence.

1.(5)_ﬂWhen values are found on a graph within a known range of values, this is

called ._;ﬂJLf’rigrﬁc- EQJ'H O,
LTNNPTIEOOQARI

Q)/To find a value on a graph that is beyond the known range of values on a graph

is called PS‘ng(QE%?ﬁd'g’ el Wi Wage Per Hotrs Worked
54130
€) On the graph to the right, find the value that —51l00:
. H2 120
corresponds with 3.5 h worked. This practice is called }3‘*34'50
because the values are found i
LTNNPTIEQOARI 850

known vaiues in a set. ol | 2] 4168k
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d) On the same graph, find the value that corresponds with 10 h worked. This

practice is called because the values are found

PNALARXETITOO
the known range of values.
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Check Your Understanding

Is it reasonable to interpolate and _ /@I‘he graph shows a relationship
extrapolate values from the graph? between weight and height jumped.
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(5 rreasonable 4o w-coordinate when A = 32 cm? Which
(nter polata  Jou + ,_»,r\L\ methed did you use to determine the
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The following graph shows fuel 6. Continental drift occurs at a rate of
<1 consumption over trme about 1 cm to 10 cm per year. R
@-: ' j | L1 ‘Fuiel Consumptionat] 99 ¢ . Assuming an average movement of dﬂ
. ¥ k. anA z
Y sp“'; b‘;"g’:gfm,h T o / 5.5 cm per year, use the graph to
2 NEEE h answer the following questions.
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a) Is it reasonable to extrapolate data & Zi'
from this graph? Explain. Bioe Mo 22 -
Yes but nly in Haz posiHve Tx 0 1620242 | |
o ‘ P olirecta I [ i [ _tyears| |
il b} Approximately how much fuel has _ o
| been used to travel 225 km? a) Approximately how long will it take

L= 260 (X.-{’f}}:gaq——ao?é the plate to move 2 m?

spring is compressed after weights b) After 17 years, approximately how
are placed on it. The spring fully far will the plate have moved?
compressed is 12 cm long and fully Which method did you use to
extended is 40 cm long. determine your answer?
___l amy | Spring Compression
St — 7. The table of values represents the .
K | dosage of a medicine needed by body @‘
£ - weight. & U:I " oleperalo ant''’
0l 5 1In :;elz;tz'skgalo 315410 kg 32 { 46 60
75 | 90 {105

a) Is it reasonable to extrapolate data

from this graph? Explain. a) Plot the linear relation on a graph, t/
celationshie  betiee W'-”“{v""’ 7 “5—&3(
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b} What weight fully compresses the #

spring? % 3 :
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c) When a 25-kg weight is placed on b) From the graph, determine fhe

the spring, what is the spring’s approximate dosage needed for

length? weights of 40 kg and 100 kg.
deo chi ~ B2 MS

<) From the graph, determine the
approximate weights needed for
dosages of 50 mg and 120 mg.
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